

On hypergeometric relations among cubic theta functions

Dr. Trishla Mehta* & Dr. Vijay Yadav,
 Department of Mathematics and Statistics,
 (*Principal)SPDT College, Andheri East, Mumbai-400059

Received July 13, 2014

Abstract: In this paper, an attempt has been made to evaluate certain generalized cubic theta functions and also several identities establish by using cubic theta functions.

Keywords and Phrases: Jacobi's identity, hypergeometric transformation, cubic theta functions, generalized cubic theta functions.

Mathematics subject Classification: 33A30, 33D15, 33D20

1. Introduction, Notations and Definitions

Ramanujan recorded hundreds of modular equations in his three notebooks. Chapters 19 - 21 in Ramanujans second notebook are almost exclusively devoted to modular equations. Ramanujan used modular equations to evaluate class invariants, certain q continued fractions, theta functions and certain other quotients and products of theta functions. Throughout this paper we shall adopt the following notations and definitions

For any number a and q , real or complex and $|q| < 1$,

$$[a; q]_n = [\alpha]_n = \begin{cases} (1 - \alpha)(1 - \alpha q)(1 - \alpha q^2) \dots (1 - \alpha q^{n-1}); & n > 0 \\ 1; & n = 0 \end{cases}$$

Accordingly, we have

$$[a; q]_\infty = \prod_{r=0}^{\infty} (1 - \alpha q^r)$$

Also

$$[a_1, a_2, \dots, a_r; q]_n = [a_1; q]_n [a_2; q]_n \dots [a_r; q]_n.$$

and

$$[a; q]_{-n} = \frac{q^{n(n+1)/2}}{(-a)^n [q/a; q]_n}$$

Motivated with the Jacobi's identity,

$$\theta_3^4(q) = \theta_2^4(q) + \theta_4^4(q) \tag{1.1}$$

Borweins in 1991 discovered an elegant cubic analogue of this identity. Borweins defined following functions which are called cubic theta functions;

$$a(q) = \sum_{m,n=-\infty}^{\infty} q^{m^2+mn+n^2}, \quad (1.2)$$

$$b(q) = \sum_{m,n=-\infty}^{\infty} \omega^{m-n} q^{m^2+mn+n^2}, \quad (\omega = e^{2\pi i/3}), \quad (1.3)$$

and

$$c(q) = \sum_{m,n=-\infty}^{\infty} q^{(m+\frac{1}{3})^2 + (m+\frac{1}{3})(n+\frac{1}{3}) + (n+\frac{1}{3})^2}. \quad (1.4)$$

Borweins proved that

$$a^3(q) = b^3(q) + c^3(q). \quad (1.5)$$

They also discovered following results;

$$a(q) = 1 + 6 \sum_{n=0}^{\infty} \left(\frac{q^{3n+1}}{1 - q^{3n+1}} - \frac{q^{3n+2}}{1 - q^{3n+2}} \right) \quad (1.6)$$

and

$$a(q) = \Phi(q) \Phi(q^3) + 4q\Psi(q^3) \Psi(q^6). \quad (1.7)$$

$$b(q) = \frac{1}{2} [3a(q^3) - a(q)], \quad (1.8)$$

$$c(q) = \frac{1}{2} [a(q^{1/3}) - a(q)]. \quad (1.9)$$

Borweins established following parametric representations for a(q), b(q) and c(q).

If $m = \frac{z_1}{z_3}$, then

$$a(q) = \sqrt{z_1 z_3} \frac{m^2 + 6m - 3}{4m}, \quad (1.10)$$

$$b(q) = \sqrt{z_1 z_3} \frac{(3 - m)(9 - m^2)^{1/3}}{4m^{2/3}}, \quad (1.11)$$

and

$$c(q) = \sqrt{z_1 z_3} \frac{3(m + 1)(m^2 + 1)^{1/3}}{4m}. \quad (1.12)$$

From these parametric representations of $a(q)$, $b(q)$ and $c(q)$ it is easy to prove,

$$a^3(q) = b^3(q) + c^3(q).$$

From (1.8) and (1.9) it is easy to establish,

$$a(q^3) = b(q) + c(q^3) \quad (1.13)$$

and

$$a(q) - b(q) = 3c(q^3). \quad (1.14)$$

2. Main Results

Hypergeometric transformation

Hypergeometric transformation can be used to find hypergeometric representation of the cubic theta functions. Let us consider the following transformation,

$$\begin{aligned} {}_2F_1 \left[c, c + \frac{1}{3}; \frac{3c+1}{2}; 1 - \left(\frac{1-x}{1+2x} \right)^3 \right] \\ = (1+2x)^{3c} {}_2F_1 \left[c, c + \frac{1}{3}; \frac{3c+5}{6}; x^3 \right], \end{aligned} \quad (2.1)$$

which is due to Ramanujan.

Putting $c = \frac{1}{3}$ and $\frac{1-x}{1+2x} = \frac{b(q)}{c(q)}$ we get,

$$\begin{aligned} {}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; 1 - \frac{b^3(q)}{a^3(q)} \right] &= \frac{3a(q)}{a(q) + 2b(q)} \times \\ &\times {}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; \frac{a(q) - b(q)}{a(q) + 2b(q)} \right]. \end{aligned} \quad (2.2)$$

Now, using (1.8) and (1.14) we get,

$${}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; 1 - \frac{b^3(q)}{a^3(q)} \right] = \frac{a(q)}{a(q^3)} {}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; \frac{c(q^3)}{a(q^3)} \right]$$

or

$${}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; 1 - \frac{b^3(q)}{a^3(q)} \right] = \frac{a(q)}{a(q^3)} {}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; 1 - \frac{b(q^3)}{a(q^3)} \right] \quad (2.3)$$

Iterating it m times and putting $n = 3^m$ we get,

$${}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; 1 - \frac{b^3(q)}{a^3(q)} \right] = \frac{a(q)}{a(q^n)} {}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; 1 - \frac{b(q^n)}{a(q^n)} \right]. \quad (2.4)$$

As $n \rightarrow \infty$ we have

$$a(q) = {}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; \frac{c^3(q)}{a^3(q)} \right]. \quad (2.5)$$

If we put x for $\frac{1-x}{1+2x}$ and $c = \frac{1}{3}$ in (2.1) we find

$${}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; 1-x^3 \right] = \left(\frac{3}{1+2x} \right) {}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; \left(\frac{1-x}{1+2x} \right)^3 \right]. \quad (2.6)$$

Now putting $\frac{1-x}{1+2x} = \frac{b(q)}{a(q)}$ in (2.6) we have

$${}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; \frac{b^3(q)}{a^3(q)} \right] = \frac{a(q)}{3a(q^3)} {}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; \frac{b^3(q^3)}{a^3(q^3)} \right] \quad (2.7)$$

Repeating the process m times and writing $n = 3^m$ we get

$${}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; \frac{b^3(q)}{a^3(q)} \right] = \frac{a(q)}{na(q^n)} {}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; \frac{b^3(q^n)}{a^3(q^n)} \right]. \quad (2.8)$$

Dividing (2.4) by (2.8), multiplying both sides by $-\frac{2\pi}{\sqrt{3}}$ and taking the exponential we obtain,

$$\begin{aligned} & \exp. \left[-\frac{2\pi}{{}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; \frac{b^3(q)}{a^3(q)} \right]} \frac{{}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; 1 - \frac{b^3(q)}{a^3(q)} \right]}{\sqrt{3}} \right] \\ &= \left\{ \exp. \left[-\frac{2\pi}{{}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; \frac{b^3(q^n)}{a^3(q^n)} \right]} \frac{{}_2F_1 \left[\frac{1}{3}, \frac{2}{3}; 1; 1 - \frac{b^3(q^n)}{a^3(q^n)} \right]}{\sqrt{3}} \right] \right\}^n. \end{aligned} \quad (2.9)$$

We can write as

$$F \left[\frac{b^3(q)}{a^3(q)} \right] = F^n \left[\frac{b^3(q^n)}{a^3(q^n)} \right]. \quad (2.10)$$

3. Evaluation of cubic theta functions

Since

$$m = \frac{z_1}{z_3} = \frac{\Phi^2(q)}{\Phi^2(q^3)} \quad (3.1)$$

and for $q = e^{-\pi}$

$$\Phi(e^{-\pi}) = \frac{\pi^{1/4}}{\Gamma(3/4)} = a \quad (3.2)$$

and

$$m = \frac{\Phi(e^{-\pi})}{\Phi(e^{-3\pi})} = \sqrt[4]{6\sqrt{3}-9}. \quad (3.3)$$

Thus we have

$$\Phi(e^{-3\pi}) = \frac{a}{\sqrt[4]{6\sqrt{3}-9}}. \quad (3.4)$$

Hence for $q = e^{-\pi}$

$$z_1 z_3 = \frac{a^2}{\sqrt[4]{6\sqrt{3}-9}}. \quad (3.5)$$

From (1.10), (1.11) and (1.12) we have

$$a(e^{-\pi}) = \frac{a^2}{\sqrt[4]{6\sqrt{3}-9}} \frac{3^{1/4}}{2\sqrt{2}} \left\{ 3\sqrt{2\sqrt{3}-\sqrt{3}} + 1 \right\}, \quad (3.6)$$

$$b(e^{-\pi}) = \frac{a^2}{2\sqrt[4]{6\sqrt{3}-9}} \frac{3 - \sqrt{6\sqrt{3}-9}}{\{2(\sqrt{3}-1)\}^{1/3}} \quad (3.7)$$

and

$$c(e^{-\pi}) = \frac{a^2(6\sqrt{3}-9)^{1/4}}{2\sqrt[4]{6\sqrt{3}-9}} \left\{ 1 + \sqrt{6\sqrt{3}-9} \right\}. \quad (3.8)$$

4. Generalized cubic theta functions

Hirschhorn, Garvan and Borwein introduced the functions,

$$a(q, z) = \sum_{m,n=-\infty}^{\infty} q^{m^2+mn+n^2} z^{n-m} \quad (4.1)$$

$$b(q, z) = \sum_{m,n=-\infty}^{\infty} q^{m^2+mn+n^2} \omega^{n-m} z^m, \quad (4.2)$$

$$(\omega = e^{2\pi i/3})$$

and

$$c(q, z) = q^{1/3} \sum_{m,n=-\infty}^{\infty} q^{m^2+mn+n^2+m+n} z^{n-m}. \quad (4.3)$$

As $z \rightarrow 1$,

$$a(q, 1) = a(q), b(q, 1) = b(q) \text{ and } c(q, 1) = c(q).$$

In the definition of $c(q, z)$ there is a multiplier $q^{1/3}$ which is not in the definition of Hirschhorn, Garvan and Borwein. It is because of the definition of $c(q)$ taken in this paper.

Hirschhorn, Garvan and Borwein gave a number of elegant identities involving $a(q, z)$, $b(q, z)$ and $c(q, z)$.

Some of these identities are given below.

$$\begin{aligned} a(q, z) = & (2 + z + z^{-1}) \frac{[q; q]_{\infty} [q^2; q^2]_{\infty}^2}{[-q^3; q^3]_{\infty} [q^6; q^6]_{\infty}} [-zq, -q/z; q]_{\infty}^2 \\ & - (1 + z + z^{-1}) \frac{[q^2; q^2]_{\infty} [q^3; q^3]_{\infty} [z^3 q^3, q^3/z^3; q^3]_{\infty}}{[-q^3; q^3]_{\infty}^3 [zq, q/z; q]_{\infty}}. \end{aligned} \quad (4.4)$$

$$\begin{aligned} a(q, z) = & \frac{1}{3} (1 + z + z^{-1}) \left[1 + 6 \sum_{n=1}^{\infty} \left(\frac{q^{3n-2}}{1 - q^{3n-2}} - \frac{q^{3n-1}}{1 - q^{3n-1}} \right) \right] \times \\ & \times \frac{[q^2; q^2]_{\infty}^2 [z^3 q^3, q^3/z^3; q^3]_{\infty}}{[q^3; q^3]_{\infty}^2 [zq, q/z; q]_{\infty}} \\ & + \frac{1}{3} (2 - z - z^{-1}) \frac{[q; q]_{\infty}^5}{[q^3; q^3]_{\infty}^3} [zq, q/z; q]_{\infty}^2. \end{aligned} \quad (4.5)$$

$$b(q, z) = [q; q]_{\infty} [q^3; q^3]_{\infty} \frac{[zq, z/q; q]_{\infty}}{[zq^3, q^3/z; q^3]_{\infty}}. \quad (4.6)$$

$$c(q, z) = q^{1/3} (1 + z + z^{-1}) [q; q]_{\infty} [q^3; q^3]_{\infty} \frac{[z^3 q^3, q^3/z^3; q^3]_{\infty}}{[zq, z/q; q]_{\infty}}. \quad (4.7)$$

5. Evaluation of generalized cubic theta functions

(a) For $z = \omega$, (4.4), (4.6) and (4.7) yields,

$$a(q, \omega) = \frac{[q; q]_{\infty} [q^2; q^2]_{\infty}^2}{[-q^3; q^3]_{\infty} [q^6; q^6]_{\infty}} \prod_{i=1}^{\infty} (1 - q^i + q^{2i})^2, \quad (5.1)$$

$$b(q, \omega) = [q; q]_{\infty} [q^3; q^3]_{\infty} \prod_{i=1}^{\infty} \left\{ \frac{(1 + q^i + q^{2i})}{(1 + q^{3i} + q^{6i})} \right\}, \quad (5.2)$$

$$c(q, \omega) = 0. \quad (5.3)$$

(b) Taking $z = -\omega$ in (4.4), (4.6) and (4.7) we get,

$$a(q, -\omega) = 3 \frac{[q; q]_{\infty} [q^2; q^2]_{\infty}^2}{[-q^3; q^3]_{\infty} [q^6; q^6]_{\infty}} \prod_{i=1}^{\infty} (1 + q^i + q^{2i})^2, \\ -2 \frac{[q^2; q^2]_{\infty} [q^3; q^3]_{\infty}}{[-q^3; q^3]_{\infty}} \left\{ \prod_{i=1}^{\infty} (1 - q^i + q^{2i})^2 \right\}^{-1}, \quad (5.4)$$

$$b(q, -\omega) = [q; q]_{\infty} [q^3; q^3]_{\infty} \prod_{i=1}^{\infty} \left\{ \frac{(1 - q^i + q^{2i})}{(1 - q^{3i} + q^{6i})} \right\}, \quad (5.5)$$

$$c(q, -\omega) = 2q^{1/3} \frac{[q; q]_{\infty} [q^3; q^3]_{\infty} [-q^3; q^3]_{\infty}^2}{\prod_{i=1}^{\infty} (1 - q^i + q^{2i})}. \quad (5.6)$$

(c) For $z = -1$, in (4.4), (4.6) and (4.7) yield,

$$a(q, -1) = \frac{[q^2; q^2]_{\infty} [q^3; q^3]_{\infty}}{[-q^3; q^3]_{\infty} [-q; q]_{\infty}^2}, \quad (5.7)$$

$$b(q, -1) = \frac{[q; q]_{\infty} [q^3; q^3]_{\infty} [-q; q]_{\infty}^2}{[-q^3; q^3]_{\infty}^2}, \quad (5.8)$$

$$c(q, -1) = -q^{1/3} \frac{[q; q]_{\infty} [q^3; q^3]_{\infty} [-q^3; q^3]_{\infty}^2}{[-q^2; q^2]_{\infty}^2}. \quad (5.9)$$

(d) For $z = 1$, in (4.5), (4.6) and (4.7) yield,

$$a(q) = \left[1 + 6 \sum_{n=1}^{\infty} \left(\frac{q^{3n-2}}{1 - q^{3n-2}} - \frac{q^{3n-1}}{1 - q^{3n-1}} \right) \right], \quad (5.10)$$

$$b(q) = \frac{[q; q]_{\infty}^3}{[q^3; q^3]_{\infty}}, \quad (5.11)$$

$$c(q) = 3q^{1/3} \frac{[q^3; q^3]_{\infty}^3}{[q; q]_{\infty}}. \quad (5.12)$$

Acknowledgement

We are thankful to Dr. S.N. Singh, Department of Mathematics, T.D.P.G. College, Jaunpur, for his valuable guidance in the preparation of this paper.

References

- [1] Andrews, G. E. and Berndt, B. C., Ramanujan's Lost Notebook, Part I, Springer, New York, 2005.
- [2] Berndt BC. Ramanujans Notebooks, Part III, Springer-Verlag, New York., 1991.
- [3] Berndt, B.C. (1997) : Ramanujans Notebooks, Part V, Springer-Verlag, New York.
- [4] Bhargava S. Unification of the cubic analogues of the Jacobian theta function, J. of Mathematical Analysis and Applications, 1995; 193: 543-558.
- [5] Borwein JM and Browein PB. A cubic counter part of Jacobis identity and the AGM, Trans. Amer. Math. Soc., 1991; 323: 691-701.
- [6] Gasper, G. and Rahman, M., basic Hypergeometric Series, Cambridge University Press, Cambridge, 1991.
- [7] Hirschhorn MD, Garvan FG and Borwein JM. Cubic analogues of the Jacobian theta-function, Canadian J. Math. 1993; 45: 673-694.
- [8] Ramanujan, S. Ramanujan's Notebooks vol. II, TIFR Bombay, 1957.
- [9] Ramanujan, S. : Modular equations and approximation to π , Quarterly J. of Mathematics, XLV (1914), 350 372.
- [10] Singh, S. P. : On evaluation of Ramanujans theta functions for a particular value of q , Journal of Indian Academy Math., vol. 31, No. 1 (2009), 189 201.